

# Adomian method for second-order fuzzy differential equation

Lei Wang and Sizong Guo

**Abstract**—In this paper, we study the numerical method for solving second-order fuzzy differential equations using Adomian method under strongly generalized differentiability. And, we present an example with initial condition having four different solutions to illustrate the efficiency of the proposed method under strongly generalized differentiability.

**Keywords**—Fuzzy-valued function, Fuzzy initial value problem, Strongly generalized differentiability, Adomian decomposition method

## I. INTRODUCTION

THE study of fuzzy differential equation (FDE) forms a suitable setting for mathematical modeling of real world problems in which uncertainties or vagueness pervade. The concept of a fuzzy derivative was defined by Chang and Zadeh in [13]. It was followed up by Dubois and Prade in [14], who used the extension principle. The term "fuzzy differential equation" was introduced in 1987 by Kandel and Byatt [21,22]. There have been many suggestions for the definition of fuzzy derivative to study FDE. The first and the most popular approach is using the Hukuhara differentiability for fuzzy-value functions. Under this setting, mainly the existence and uniqueness of the solution of a FDE are studied [13,20,25,28]. This approach has a drawback: the solution becomes fuzzier as time goes by. Hence, the fuzzy solution behaves quite differently from the crisp solution. Seikkala [29] introduced the notion of fuzzy derivative as an extension of the Hukuhara derivative and fuzzy integral, which was the same as what Dubois and Prade [14] proposed. Buckley and Feuring [11] gave a very general formulation of fuzzy first-order initial value problem. They firstly find the crisp solution, fuzzify it and then check to see if it satisfies the FDE. To alleviate the situation, Hillermeier [18] interpreted FDE as a family of differential inclusions. The main shortcoming of using differential inclusions is that we do not have a derivative of a fuzzy-valued function. The strongly generalized differentiability was introduced in [8] and studied in [9,10,12]. In [24] a generalized concept of higher-order differentiability for fuzzy-valued functions is presented to solve nth-order fuzzy differential equations. This concept allows us to resolve the above mentioned shortcoming. Indeed, the strongly generalized derivative is defined for a larger class of fuzzy-valued functions than the Hukuhara derivative. Hence, we use this differentiability concept in the present paper.

Lei Wang is with Department of Basic Teaching, Liaoning Technical University, Huludao, 125105, P. R. China, e-mail: lntuwl@126.com.

Sizong Guo is with College of Science, Liaoning Technical University, Fuxin, 123000, P. R. China, e-mail: guosizong@tom.com.

Under appropriate conditions, the fuzzy initial value problem (FIVP) considered under this interpretation has locally two solutions [9]. Numerical solution of an FDE is obtained now in a natural way, by extending the existing classical methods to the fuzzy case [19]. Some numerical methods for FDE under the Hukuhara differentiability concept such as the fuzzy Euler method, predictor-corrector method, Taylor method and Nyström method are presented in [1,2,6,16,24]. In 1990, G. Adomian [4] introduced the Adomian decomposition method and applied it to solve nonlinear equations. Babolian [7] studied the first-order fuzzy initial value problem using this method. In this paper, we develop numerical methods for addressing second-order fuzzy differential equation by Adomian decomposition method using the strongly generalized derivative. The rest of the paper is organized as follows: Section 2 contains the basic material to be used in the rest of paper; In section 3 we define a second-order fuzzy differential equation under strongly generalized differentiability and in section 4 we discuss Adomian decomposition method. In section 5 the proposed method is illustrated by a numerical example and the conclusion and future research is drawn in the last section 6.

## II. PRELIMINARIES

Let us denote by  $R_f$  the class of fuzzy subsets of the real axis  $u : X \rightarrow [0, 1]$  satisfying the following properties:

- 1)  $u$  is normal, i.e.  $\exists x_0 \in X$  with  $u(x_0) = 1$ ,
- 2)  $u$  is convex fuzzy set (i.e.  $u(tx + (1-t)y) \geq \min\{u(x), u(y)\}$ ,  $\forall t \in [0, 1], x, y \in R$ ),
- 3)  $u$  is upper semicontinuous on  $R$ ,
- 4)  $\overline{\{x \in R, u(x) > 0\}}$  is compact, where  $\bar{A}$  denotes the closure of  $A$ .

Then  $R_f$  is called the space of fuzzy numbers [15]. Obviously  $R \subset R_f$ . Here  $R \subset R_f$  is understood as  $R = \chi_{\{x\}} : x$  is usual real number. For  $0 < \lambda \leq 1$  denote  $[u]^\lambda = \{x \mid u(x) \geq \lambda, x \in R\}$  and  $[u]^0 = \{x \mid u(x) > 0, x \in R\}$ . Then it is well-known that for any  $\lambda \in [0, 1]$ ,  $[u]^\lambda$  is a bounded closed interval. The notation  $[u]^\lambda = [u_-^\lambda, u_+^\lambda]$  denotes explicitly the  $\lambda$ -level set of  $u$ . One refers to  $u_-^\lambda$  and  $u_+^\lambda$  as the lower and upper branches of  $u$ , respectively. The following definition shows when  $[u_-^\lambda, u_+^\lambda]$  is a valid  $\lambda$ -level set.

**Definition 2.1** ([29]) The sufficient conditions for  $[u_-^\lambda, u_+^\lambda]$  to define the parametric form of a fuzzy number are as follows:

- (a)  $u_-^\lambda$  is a bounded monotonic increasing (nondecreasing) left-continuous function on  $[0, 1]$  and right-continuous for  $\lambda = 0$ ,

(b)  $u_+^\lambda$  is a bounded monotonic decreasing (nonincreasing) left-continuous function on  $[0, 1]$  and right-continuous for  $\lambda = 0$ ,

(c)  $u^\lambda \leq u_+^\lambda, \lambda \in [0, 1]$ .

For  $u, v \in R_f$  and  $k \in R$ , the sum  $u+v$  and the product are defined by  $ku$  are defined by  $[u+v]^\lambda = [u]^\lambda + [v]^\lambda, [kv] = k[v]^\lambda$  for any  $\lambda \in [0, 1]$ , where  $[u]^\lambda + [v]^\lambda = \{x+y | x \in [u]^\lambda, y \in [v]^\lambda\}$  means the usual addition of two intervals (subsets) of  $R$  and  $k[u]^\lambda = \{kx | x \in [u]^\lambda\}$  means the usual product between a scalar and a subset of  $R$ , let  $D : R_f \times R_f \rightarrow R_+ \cup \{0\}, D(u, v) = \sup_{\lambda \in [0, 1]} \max\{|u_-^\lambda - v_-^\lambda|, |u_+^\lambda - v_+^\lambda|\}$

be the Hausdorff distance between fuzzy numbers, where  $[u]^\lambda = [u_-^\lambda, u_+^\lambda], [v]^\lambda = [v_-^\lambda, v_+^\lambda]$ . The following properties are well-known [17].

(a)  $D(u+\omega, v+\omega) = D(u, v), \forall u, v, \omega \in R_f,$

(b)  $D(ku, kv) = |k|D(u, v), \forall k \in R, u, v \in R_f,$

(c)  $D(u+v, \omega+e)D(u, \omega) + D(v, e), \forall u, v, \omega, e \in R_f.$

and  $(R_f, D)$  is a complete metric space.

**Definition 2.2 ([26]).** Let  $x, y \in R_f$ . If there exists  $z \in R_f$  such that  $x = y + z$ , then  $z$  is called the H-difference of  $x$  and  $y$ , it is denoted by  $z = x -_H y$ .

In this paper the “ $-_H$ ” sign stands always for H-difference and let us remark that  $x -_H y \neq x + (-y)$ . Let us recall the definition of strongly generalized differentiability introduced in [9,10].

**Definition 2.3** Let  $f : [a, b] \rightarrow R_f$  and  $t \in [a, b]$ . We say that  $f$  is strongly generalized differentiable at  $t$ , if there exists an element  $f'(t) \in R_f$ , such that

(1) for all  $h > 0$  sufficiently small,  $\exists f(t+h) -_H f(t), \exists f(t) -_H f(t-h)$  and the limits (in the metric  $D$ )

$$\lim_{h \rightarrow 0} \frac{f(t+h) -_H f(t)}{h} = \lim_{h \rightarrow 0} \frac{f(t) -_H f(t-h)}{h} = f'(t).$$

(2) for all  $h > 0$  sufficiently small,  $\exists f(t-h) -_H f(t), \exists f(t) -_H f(t+h)$  and the limits  $\lim_{h \rightarrow 0} \frac{f(t-h) -_H f(t)}{-h} =$

$$\lim_{h \rightarrow 0} \frac{f(t) -_H f(t+h)}{-h} = f'(t).$$

For the sake of simplicity, we say that the fuzzy-valued function  $f$  is (1)-differentiable if it satisfies in the Definition 2.3 case (1) and we denote its first derivatives by  $D_1^{(1)}f(t)$ , we say fuzzy-valued function  $f$  is (2)-differentiable if it satisfies in the Definition 2.3 case (2) and we denote its first derivatives by  $D_2^{(1)}f(t)$ .

**Remark 2.1** In the Definition 2.3, (1)-differentiability corresponds to the H-derivative introduced in [29], so this differentiability concept is a generalization of the H-derivative and obviously more general.

In the special case when  $f$  is a fuzzy-valued function, we have the following result.

**Theorem 2.1([12])** Let  $f : [a, b] \rightarrow R_f$  be a fuzzy-valued function and denote  $[f(t)]^\lambda = [f_-^\lambda(t), f_+^\lambda(t)]$ , for  $\lambda \in [0, 1]$ . Then

(1) If  $f$  is (1)-differentiable, then  $f_-^\lambda(t)$  and  $f_+^\lambda(t)$  are differentiable functions and  $[D_1^{(1)}f(t)]^\lambda = [(f_-^\lambda(t))', (f_+^\lambda(t))']$ .

(2) If  $f$  is (2)-differentiable, then  $f_-^\lambda(t)$  and  $f_+^\lambda(t)$  are differentiable functions and  $[D_2^{(1)}f(t)]^\lambda = [(f_+^\lambda(t))', (f_-^\lambda(t))']$ .

Now we introduce definitions for second-order derivatives based on the selection of derivative type in each step of differentiation.

For a given fuzzy-valued function  $f$ , we have two possibilities (Definition 2.3) to obtain the derivative of  $f$  at  $t : D_1^{(1)}f(t)$  and  $D_2^{(1)}f(t)$ . Then for each of these two derivatives, we have again two possibilities  $D_1^{(1)}(D_1^{(1)}f(t)), D_2^{(1)}(D_1^{(1)}f(t)), D_1^{(1)}(D_2^{(1)}f(t)), D_2^{(1)}(D_2^{(1)}f(t))$  respectively, so the second-order derivative of  $f$  has four cases.

**Definition 2.4** Let  $f : [a, b] \rightarrow R_f$  and  $t \in [a, b]$ . We say that  $f$  is second-order strongly generalized differentiable at  $t$ , if there exists an element  $f''(t) \in R_f$ , such that

(i) for all  $h > 0$  sufficiently small,  $\exists D_1^{(1)}f(t+h) -_H D_1^{(1)}f(t), \exists D_1^{(1)}f(t) -_H D_1^{(1)}f(t-h)$ , and the limits (in the metric  $D$ )  $\lim_{h \rightarrow 0} \frac{D_1^{(1)}f(t+h) -_H D_1^{(1)}f(t)}{h} =$

$$\lim_{h \rightarrow 0} \frac{D_1^{(1)}f(t) -_H D_1^{(1)}f(t-h)}{h} = f''(t),$$

(ii) for all  $h > 0$  sufficiently small,  $\exists D_1^{(1)}f(t-h) -_H D_1^{(1)}f(t), \exists D_1^{(1)}f(t) -_H D_1^{(1)}f(t+h)$ , and the limits  $\lim_{h \rightarrow 0} \frac{D_1^{(1)}f(t) -_H D_1^{(1)}f(t+h)}{-h} = \lim_{h \rightarrow 0} \frac{D_1^{(1)}f(t-h) -_H D_1^{(1)}f(t)}{-h} =$

$$f''(t),$$

(iii) for all  $h > 0$  sufficiently small,  $\exists D_2^{(1)}f(t+h) -_H D_2^{(1)}f(t), \exists D_2^{(1)}f(t) -_H D_2^{(1)}f(t-h)$ , and the limits  $\lim_{h \rightarrow 0} \frac{D_2^{(1)}f(t+h) -_H D_2^{(1)}f(t)}{h} = \lim_{h \rightarrow 0} \frac{D_2^{(1)}f(t) -_H D_2^{(1)}f(t-h)}{h} =$

$$f''(t),$$

(iv) for all  $h > 0$  sufficiently small,  $\exists D_2^{(1)}f(t-h) -_H D_2^{(1)}f(t), \exists D_2^{(1)}f(t) -_H D_2^{(1)}f(t+h)$ , and the limits  $\lim_{h \rightarrow 0} \frac{D_2^{(1)}f(t) -_H D_2^{(1)}f(t+h)}{-h} = \lim_{h \rightarrow 0} \frac{D_2^{(1)}f(t-h) -_H D_2^{(1)}f(t)}{-h} =$

$$f''(t).$$

**Remark 2.2** Let  $f : [a, b] \rightarrow R_f$  and  $n, m = 1, 2$ , if  $D_n^{(1)}$  exists on a neighborhood of  $t$  as a fuzzy-valued function and it is (m)-differentiable at  $t$ , the second derivatives of  $f$  are denoted by  $D_{n,m}^{(2)}, n, m = 1, 2$ . One says  $f$  is (n,m)-differentiable at  $t$ .

**Theorem 2.2** Let  $D_i^{(1)}f(t) : [a, b] \rightarrow R_f, i = 1, 2$ . be fuzzy-valued function where  $[f(t)]^\lambda = [f_-^\lambda(t), f_+^\lambda(t)]$ , then

(I) If  $D_1^{(1)}f(t)$  is (1)-differentiable, then  $(f_-^\lambda(t))'$  and  $(f_+^\lambda(t))'$  are differentiable functions and  $[D_{1,1}^{(2)}f(t)]^\lambda = [(f_-^\lambda(t))'', (f_+^\lambda(t))'']$ ,

(II) If  $D_1^{(1)}f(t)$  is (2)-differentiable, then  $(f_-^\lambda(t))'$  and  $(f_+^\lambda(t))'$  are differentiable functions and  $[D_{2,1}^{(2)}f(t)]^\lambda = [(f_+^\lambda(t))'', (f_-^\lambda(t))'']$ ,

(III) If  $D_2^{(1)}f(t)$  is (1)-differentiable, then  $(f_-^\lambda(t))'$  and  $(f_+^\lambda(t))'$  are differentiable functions and  $[D_{1,2}^{(2)}f(t)]^\lambda = [(f_+^\lambda(t))'', (f_-^\lambda(t))'']$ ,

(IV) If  $D_2^{(1)}f(t)$  is (2)-differentiable, then  $(f_-^\lambda(t))'$  and  $(f_+^\lambda(t))'$  are differentiable functions and  $[D_{2,2}^{(2)}f(t)]^\lambda = [(f_-^\lambda(t))'', (f_+^\lambda(t))'']$ .

**Proof.** We present the details only for the case (I), since the other cases are analogous. Since  $D_1^{(1)}f(t)$  is (1)-differentiable, for  $\lambda \in [0, 1]$ , from the case (I) of Theorem 2.1, we have  $[D_1^{(1)}f(t)]^\lambda = [(f_-^\lambda(t))', (f_+^\lambda(t))']$ . Similarly, from the case (2) of Theorem 2.1, we obtain  $[D_{1,1}^{(2)}f(t)]^\lambda = [(f_-^\lambda(t))'', (f_+^\lambda(t))'']$ , this completes the proof of the theorem.

III. SECOND-ORDER FUZZY DIFFERENTIAL EQUATION

In this section, we study the fuzzy initial value problem for a second-order linear fuzzy differential equation:

$$\begin{cases} x''(t) + a(t)x'(t) + b(t)x(t) = \omega(t), \\ x(0) = c_1, \\ x'(0) = c_2. \end{cases} \quad (1)$$

where,  $c_1, c_2 \in R_f, a(t), b(t), \omega(t) \in R$ . In this paper, we suppose  $a(t), b(t) > 0$ . Our strategy of solving (1) is based on the selection of derivative type in the fuzzy differential equation. We first give the following definition for the solutions of (1).

*Definition 3.1* let  $x : [a, b] \rightarrow R_f$  be a fuzzy-valued function and  $n, m = 1, 2$ . One says  $x$  is an (n,m)-solution for problem (1). if  $D_n^{(1)}x(t), D_{n,m}^{(2)}x(t)$  exist and  $D_n^{(2)}x(t) + a(t)D_n^{(1)}x(t) + b(t)x(t) = \omega(t), x(0) = c_1, D_n^{(1)}x(0) = c_2$ .

Let  $x$  be an (n,m)-solution for (1). To find it, utilizing Theorems 2.1 and 2.2 and considering the initial values, we can translate (1) to a system of second-order linear ordinary differential equations hereafter, called corresponding (n,m)-system for (1).

Therefore, four ODEs systems are possible for (1), as follows:

(1,1)-system

$$\begin{cases} x''_-(t; \lambda) + a(t)x'_-(t; \lambda) + b(t)x_-(t; \lambda) = \omega(t), \\ x''_+(t; \lambda) + a(t)x'_+(t; \lambda) + b(t)x_+(t; \lambda) = \omega(t), \\ x_-(0; \lambda) = c_{1-}^\lambda, x_+(0; \lambda) = c_{1+}^\lambda, \\ x'_-(0; \lambda) = c_{2-}^\lambda, x'_+(0; \lambda) = c_{2+}^\lambda. \end{cases} \quad (2)$$

(1,2)-system

$$\begin{cases} x''_+(t; \lambda) + a(t)x'_+(t; \lambda) + b(t)x_-(t; \lambda) = \omega(t), \\ x''_-(t; \lambda) + a(t)x'_-(t; \lambda) + b(t)x_+(t; \lambda) = \omega(t), \\ x_-(0; \lambda) = c_{1-}^\lambda, x_+(0; \lambda) = c_{1+}^\lambda, \\ x'_-(0; \lambda) = c_{2-}^\lambda, x'_+(0; \lambda) = c_{2+}^\lambda. \end{cases} \quad (3)$$

(2,1)-system

$$\begin{cases} x''_+(t; \lambda) + a(t)x'_+(t; \lambda) + b(t)x_-(t; \lambda) = \omega(t), \\ x''_-(t; \lambda) + a(t)x'_-(t; \lambda) + b(t)x_+(t; \lambda) = \omega(t), \\ x_-(0; \lambda) = c_{1-}^\lambda, x_+(0; \lambda) = c_{1+}^\lambda, \\ x'_-(0; \lambda) = c_{2-}^\lambda, x'_+(0; \lambda) = c_{2+}^\lambda. \end{cases} \quad (4)$$

(2,2)-system

$$\begin{cases} x''_-(t; \lambda) + a(t)x'_-(t; \lambda) + b(t)x_-(t; \lambda) = \omega(t), \\ x''_+(t; \lambda) + a(t)x'_+(t; \lambda) + b(t)x_+(t; \lambda) = \omega(t), \\ x_-(0; \lambda) = c_{1-}^\lambda, x_+(0; \lambda) = c_{1+}^\lambda, \\ x'_-(0; \lambda) = c_{2-}^\lambda, x'_+(0; \lambda) = c_{2+}^\lambda. \end{cases} \quad (5)$$

The previous discussion illustrates the method to solve (1). We first choose the type of solution and translate (1) to a system of ordinary differential equations. Then, we solve the obtained ordinary differential equations system.

*Remark 3.1* We see that the solution of fuzzy differential (1) depends upon the selection of derivatives. It is clear that in this new procedure, the unicity of the solution is lost, an expected situation in the fuzzy context.

IV. ADOMIAN METHOD FOR FUZZY DIFFERENTIAL EQUATION

The decomposition method was introduced by Adomian [3,4,5] in the 1980s in order to solve linear and nonlinear functional equations. Adomian has developed a decomposition technique for solving nonlinear functional equations, in this section we solve the fuzzy differential equation under strongly generalized differentiability by Adomian decomposition method and restrictions of the method will be discussed.

We only consider the (2) in section 3 and solve by Adomian decomposition method, since the other cases are analogous. For the sake of simplicity, we denote  $x_-(t; \lambda)$  by  $^-x$ , denote  $x_+(t; \lambda)$  by  $\bar{x}$ , denote  $a(t), b(t), \omega(t)$  by  $a, b, \omega$ , respectively.

Let  $^-x_1 = ^-x, ^-x_2 = ^-x', ^-x_3 = ^-x'', \bar{x}_1 = \bar{x}, \bar{x}_2 = \bar{x}', \bar{x}_3 = \bar{x}''$ ,  $P^-x_1 = ^-x_2, P^-x_2 = ^-x_3 = \omega - a^-x_2 - b^-x_1$ ,  $P\bar{x}_1 = \bar{x}_2, P\bar{x}_2 = \bar{x}_3 = \omega - a\bar{x}_2 - b\bar{x}_1$ , where  $P = \frac{\partial(\cdot)}{\partial t}$ , then

$$^-x_1 = ^-x_1(0) + \int_0^t ^-x_2 dt \quad (6)$$

$$^-x_2 = ^-x_2(0) + \int_0^t (\omega - a^-x_2 - b^-x_1) dt \quad (7)$$

$$\bar{x}_1 = \bar{x}_1(0) + \int_0^t \bar{x}_2 dt \quad (8)$$

$$\bar{x}_2 = \bar{x}_2(0) + \int_0^t (\omega - a\bar{x}_2 - b\bar{x}_1) dt \quad (9)$$

where  $^-x_1(0) = c_{1-}^\lambda, \bar{x}_1(0) = c_{1+}^\lambda, ^-x_2(0) = c_{2-}^\lambda, \bar{x}_2(0) = c_{2+}^\lambda$ . Adomian decomposition method considers the solutions  $^-x$  and  $\bar{x}$  as the sum of a series as:  $^-x_i = \sum_{j=0}^{\infty} ^-x_{i,j}, \bar{x}_i = \sum_{j=0}^{\infty} \bar{x}_{i,j}, i = 1, 2$ . So, we can calculate the terms of  $^-x_i = \sum_{j=0}^{\infty} ^-x_{i,j}, \bar{x}_i = \sum_{j=0}^{\infty} \bar{x}_{i,j}, i = 1, 2$ . term by term as long as we derive desired accuracy, the more terms the more accuracy. Therefore, we have

$$^-x_{1,0} + ^-x_{1,1} + \dots = ^-x_1(0) + \int_0^t (^-x_{2,0} + ^-x_{2,1} + \dots) dt \quad (10)$$

$$^-x_{2,0} + ^-x_{2,1} + \dots = \bar{x}_1(0) + \int_0^t [\omega(t) - a(^-x_{2,0} + ^-x_{2,1} + \dots) - b(^-x_{1,0} + ^-x_{1,1} + \dots)] dt \quad (11)$$

$$\bar{x}_{1,0} + \bar{x}_{1,1} + \dots = ^-x_2(0) + \int_0^t (\bar{x}_{2,0} + \bar{x}_{2,1} + \dots) dt \quad (12)$$

$$\bar{x}_{2,0} + \bar{x}_{2,1} + \dots = \bar{x}_2(0) + \int_0^t [\omega(t) - a(\bar{x}_{2,0} + \bar{x}_{2,1} + \dots) - b(\bar{x}_{1,0} + \bar{x}_{1,1} + \dots)] dt \quad (13)$$

By solving (10)-(13), we can calculate the terms of above series. Three other cases are the same.

## V. NUMERICAL EXAMPLE

Let us consider the following second-order fuzzy initial value problem

$$\begin{cases} x''(t) + x'(t) + x(t) = t, \\ x(0) = 0, \\ x'(0) = 1. \end{cases} \quad (14)$$

where 0 and 1 are the triangular fuzzy number having  $\lambda$ -level sets  $[0]^\lambda = [\lambda - 1, 1 - \lambda]$  and  $[1]^\lambda = [\lambda, 2 - \lambda]$ ,  $\lambda \in [0, 1]$ , respectively.

By Adomian decomposition method, we obtain the (1,1)-solution of (14) is

$$\begin{cases} x_-(t; \lambda) = (\lambda - 1) + \lambda t + ((1 - 2\lambda)/2)t^2 + (1/6)t^3 \\ x_+(t; \lambda) = (1 - \lambda) + (2 - \lambda)t + ((2\lambda - 3)/2)t^2 + (1/6)t^3 \end{cases} \quad (15)$$

for  $t \in [0, (1 + \sqrt{5})/2]$ .

The (1,2)-solution of (14) is

$$\begin{cases} x_-(t; \lambda) = (\lambda - 1) + \lambda t + ((2\lambda - 3)/2)t^2 + (1/6)t^3 \\ x_+(t; \lambda) = (1 - \lambda) + (2 - \lambda)t + ((1 - 2\lambda)/2)t^2 + (1/6)t^3 \end{cases} \quad (16)$$

for  $t \in [0, +\infty)$ .

The (2,1)-solution of (14) is

$$\begin{cases} x_-(t; \lambda) = (\lambda - 1) + \lambda t + (-1/2)t^2 + (1/6)t^3, \\ x_+(t; \lambda) = (1 - \lambda) + (2 - \lambda)t + ((1 - 2\lambda)/2)t^2 + (1/6)t^3 \end{cases} \quad (17)$$

for  $t \in [0, +\infty)$ .

The (2,2)-solution of (14) is

$$\begin{cases} x_-(t; \lambda) = (\lambda - 1) + \lambda t + (-1/2)t^2 + (1/6)t^3, \\ x_+(t; \lambda) = (1 - \lambda) + (2 - \lambda)t + (-1/2)t^2 + (1/6)t^3. \end{cases} \quad (18)$$

for  $t \in [0, +\infty)$ .

We only count to three times Adomian polynomials, we obtain the (1,1)-solution of (14) is local existence and others are global existence.

## VI. CONCLUSION

In this paper we presented the strongly generalized differentiability for the second order linear differential equation having fuzzy initial conditions. We apply Adomian decomposition method. Note that Adomian method gives explicit formula of solution even for some nonlinear problems that cannot be solved by classical methods and this is an advantage whereas more numerical methods lack this ability. Future research will be concerned with improved Adomian decomposition method and other methods..

## ACKNOWLEDGMENT

This work was supported by a grant from the Ph.D. Programs Foundation of Ministry of Education of China (No. 20102121110002)

## REFERENCES

- [1] S. Abbasbandy, T. Allahviranloo, *Numerical solutions of fuzzy differential equations by Taylor method*, Journal of Computer and Mathematics with Applications 2 (2002) 113-124
- [2] S. Abbasbandy, T. Allahviranloo, O. Lopez-Pouso, J.J. Nieto, *Numerical methods for fuzzy differential inclusions*, Journal of Computer and Mathematics with Applications 48 (2004) 1633-1641.
- [3] G. Adomian, *Nonlinear stochastic systems and application to physics*, Kluwer, Dordrecht, 1989.
- [4] G. Adomian, *A review of the decomposition method and some results for nonlinear equations*, Math. Compute Model 7 (1990) 17-43.
- [5] G. Adomian, *Solving Frontier Problems of Physics: The Decomposition Method*, Kluwer, Dordrecht, 1994.
- [6] T. Allahviranloo, N. Ahmadi, E. Ahmadi, *Numerical solution of fuzzy differential equations by predictor-corrector method*, Information Sciences 177 (2007) 1633-1647.
- [7] E. Babolian, H. Sadeghi b, Sh. Javadi, *Numerically solution of fuzzy differential equations by Adomian method*, Applied Mathematics and Computation 149 (2004) 547-557.
- [8] B. Bede, S.G. Gal, *Almost periodic fuzzy-number-valued functions*, Fuzzy Sets and Systems 147 (2004) 385-403.
- [9] B. Bede, S.G. Gal, *Generalizations of the differentiability of fuzzy number value functions with applications to fuzzy differential equations*, Fuzzy Sets and Systems 151 (2005) 581-599.
- [10] B. Bede, I.J. Rudas, A.L. Bencsik, *First order linear fuzzy differential equations under generalized differentiability*, Information Sciences 177 (2007) 1648-1662.
- [11] J.J. Buckley, T. Feuring, *Fuzzy differential equations*, Fuzzy Sets and Systems 110 (2000) 43-54.
- [12] Y. Chalco-Cano, H. Romn-Flores, *Comparison between some approaches to solve fuzzy differential equations*, Fuzzy Sets and Systems 160 (2009) 1517-1527.
- [13] S. L. Chang, L. A. Zadeh, *On fuzzy mapping and control*, IEEE Transactions on Systems Man Cybernetics 2 (1972) 330-340.
- [14] D. Dubois, H. Prade, *Towards fuzzy differential calculus: Part 3, Differentiation*. Fuzzy Sets and Systems 8 (1982) 225-233.
- [15] D. Dubois, H. Prade, *Fuzzy numbers: an overview*, in: J. Bezdek (Ed.), Analysis of Fuzzy Information, CRC Press (1987) 112-148.
- [16] M. Friedman, M. Ma, A. Kandel, *Numerical solution of fuzzy differential and integral equations*, Fuzzy Sets and Systems 106 (1999) 35-48.
- [17] S. G. Gal, *Approximation theory in fuzzy setting*, in: G.A. Anastassiou (Ed.), Handbook of Analytic-Computational Methods in Applied Mathematics, Chapman Hall/CRC Press, (2000) 617-666.
- [18] E. Hllrmeier, *An approach to modelling and simulation of uncertain systems*, International Journal of Uncertainty Fuzziness Knowledge-Based Systems 5 (1997) 117-137.
- [19] E. Hllrmeier, *Numerical methods for fuzzy initial value problems*, International Journal of Uncertainty Fuzziness Knowledge-Based Systems 7 (1999) 439-461.
- [20] O. Kaleva, *Fuzzy differential equations*, Fuzzy Sets and Systems 24 (1987) 301-317.
- [21] A. Kandel, W. J. Byatt, *Fuzzy differential equations*, in: Proceedings of International Conference Cybernetics and Society, Tokyo: (1978) 1213-1216.
- [22] A. Kandel, W. J. Byatt, *Fuzzy processes*, Fuzzy Sets and Systems 4 (1980) 117-152.
- [23] A. Khastan, F. Bahrami, K. Ivaz, *New results on multiple solutions for nth-order fuzzy differential equation under generalized differentiability*. Boundary Value Problem (Hindawi Publishing Corporation). doi:10.1155/2009/395714 (2010).
- [24] A. Khastan, K. Ivaz, *Numerical solution of fuzzy differential equations by Nystrm method*. Chaos Solitons Fractals 41 (2009) 859-868.
- [25] J.J. Nieto, R. Rodríguez-Lpez, D. Franco, *Linear first-order fuzzy differential equation*, International Journal of Uncertainty Fuzziness Knowledge-Based Systems 14 (2006) 687-709.
- [26] M. Puri, D. Ralescu, *Differentials of fuzzy functions*. Journal of Mathematical Analysis and Applications 91(1983) 552-558.
- [27] S. Seikkala, *On the fuzzy initial value problem*, Fuzzy Sets and Systems 24 (1987) 319-330.
- [28] S. J. Song, C. X. Wu, *Existence and uniqueness of solutions to the Cauchy problem of fuzzy differential equations*, Fuzzy Sets and Systems 110 (2000) 55-67.
- [29] J. P. Xu, Z. Liao, Z. Hu, *A class of linear differential dynamical systems with fuzzy initial condition*. Fuzzy Sets and Systems 158 (2007) 2339-2358.